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CERTIFICATE IN SERICULTURE (CIS) 

Term-End Examination 

December, 2014 

BLPI-002 : HOST PLANT CULTIVATION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry 

equal marks. 

1. (a) Why is choosing of mulberry varieties 

important in cultivation of mulberry ? 	2 

(b) What do silkworms produce when mulberry 

leaf is fed to them and how ? 	 2 

(c) What do you mean by rainfed mulberry 

cultivation ? 

(d) What spacing should be followed in 

mulberry nurseries ? 	 2 

(e) Describe the process of raising Kesseru 

nursery. 	 2 
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2. (a)  Explain the importance of biofertilizers in 
mulberry cultivation. 2 

(b)  What is green manuring ? 2 

(c)  What is the recommended fertilizer schedule 
followed 	for 	mulberry 	under 	rainfed 
conditions/hilly regions ? 2 

(d)  What are the types of leaves required for 
young, 	medium and late 	age silkworm 

rearing ? 2 

(e)  Give the fertilizer doses for oak plants. 2 

3. (a)  Why is assessment of leaf yield important 
in sericulture ? 2 

(b)  Which 	are 	the 	mulberry 	varieties 
recommended for irrigated conditions ? 2 

(c)  Which season crop is the main silkworm crop 
in sub-tropical zone ? 2 

(d)  Describe temperate sericulture zone. 2 

(e)  Mention the different food plant species of 
eri silkworm. 2 

4. (a)  What is thinning ? 2 

(b)  Describe the pruning of mulberry under 
sub-tropical zone of India. 2 

(c)  List two advantages of pruning. 2 
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(d) Name two common weeds of mulberry 
garden which are difficult to control. 	2 

(e) Describe the pruning process of Tasar food 
plant. 	 2 

5. (a) How much chawki leaf can be produced 
annually from one hectare of S-36 or V-1 
mulberry garden ? 	 2 

(b) What is the spacing followed in paired row 
system of plantation ? 	 2 

(c) What is the common method of propagation 
of mulberry in South India ? 	 2 

(d) Describe the intercropping pattern in Muga 
plantation. 

(e) Describe the transplantation of Quercus 
serrata seedlings into the field. 	 2 

6. (a) Name any two weeding tools used in 
mulberry cultivation. 	 2 

(b) Name two types of sprayers. 	 2 

(c) Name two important shoot harvesting tools 
in mulberry. 	 2 

(d) How can a mulberry garden with 
60 cm x 60 cm spacing be converted into a 
paired row suitable for mechanization ? 	2 

(e) What are the different pests of Eri plant and 
how are these managed ? 	 2 
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7. (a) Fill in the blanks : 	 5x1=5 

(i) Quercus serrata in the host plant of 
	Tasar. 

(ii) silk is the most 
expensive silk. 

(iii) 	  silkworm feeds mainly 
on castor plant. 

(iv) soils have pH less than 

(v)  
a crop. 

(b) Write a note on raising of nursery of Tasar 
food plants. 	 5 

8. Differentiate the following : 	 5x2=10 

(a) Root Grafting and Bud Grafting 

(b) Air Layering and Trench Layering 

(c) Pit system and Row system of plantation 

(d) Organic manure and Biofertilizer 

(e) Pruning and Pollarding 

seven. 

are unwanted plants in 
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